
 

       Name_____________________________ 
 

2) There are ______ electrons, _______ protons, and ______ neutrons in an atom of . 
A) 132, 132, 54 
B) 54, 54, 132 
C) 78, 78, 54 
D) 54, 54, 78 
E) 78, 78, 132 
 
3) Which pair of atoms constitutes a pair of isotopes of the same element? 

A) X X 

B) X X 

C) X X 

D) X X 

E) X X 
 
 
Periodic Table 
 
14) Which pair of elements would you expect to exhibit the greatest similarity in their physical 
and chemical properties? 
A) O, S 
B) C, N 
C) K, Ca 
D) H, He 
E) Si, P 
 
15) An element that appears in the lower left corner of the periodic table is __________. 
A) either a metal or metalloid 
B) definitely a metal 
C) either a metalloid or a non-metal 
D) definitely a non-metal 
E) definitely a metalloid 
 
16) The elements in groups 1, 17, and 18 are called, __________, respectively. 
A) alkaline earth metals, halogens, and chalcogens 
B) alkali metals, chalcogens, and halogens 
C) alkali metals, halogens, and noble gases 
D) alkaline earth metals, transition metals, and halogens 
E) halogens, transition metals, and alkali metals 
 
 
 
 
 



 

17) Which one of the following is most likely to lose electrons when forming an ion? 
A) F 
B) P 
C) Rh 
D) S 
E) N 
 
18) When a metal and a nonmetal react, the __________ tends to lose electrons and the 
__________ tends to gain electrons. 
A) metal, metal 
B) nonmetal, nonmetal 
C) metal, nonmetal 
D) nonmetal, metal 
E) None of the above, these elements share electrons. 
 
 
19) __________ typically form ions with a 2+ charge. 
A) Alkaline earth metals 
B) Halogens 
C) Chalcogens 
D) Alkali metals 
E) Transition metals 
 
Chemical Names/Formulas 
 
21) Which of the following compounds would you expect to be ionic? 
A) SF

6
 

B) H
2

O 

C) H
2

O
2

 

D) NH
3

 

E) CaO 
 
22) The charge on the iron ion in the salt Fe2O3 is __________. 

A) +1 
B) +2 
C) +3 
D) -5 
E) -6 
 
 
23) What is the formula of the compound formed between strontium ions and nitrogen ions? 
A) SrN 
B) Sr

3
N

2
 

C) Sr
2

N
3

 

D) SrN
2

 

E) SrN
3

 

 



 

24) Which species below is the nitride ion? 

A) Na
+

 

B) NO
3

-
 

C) NO
2

-
 

D) NH
4

+
 

E) N
3- 

 
25) Which one of the following compounds is chromium(III) oxide? 
A) Cr2O3 

B) CrO3 

C) Cr3O2 

D) Cr3O 

E) Cr2O4 

 
26) What is the correct formula for ammonium sulfide? 
A) NH

4
SO

3
 

B) (N H
4

)
2

SO
3
 

C) (NH
4

)
2

S 

D) NH
3

S 

E) N
2

S
3
 

 
27) Which formula/name pair is incorrect 
A) FeSO

4
   iron(II) sulfate 

B) Fe
2

(SO
3

)
3
 iron(III) sulfite 

C) FeS  iron(II) sulfide 
D) FeSO

3
  iron(II) sulfite 

E) Fe
2

(SO
4

)
3
 iron(III) sulfide 

 
28) The formula for the compound formed between aluminum ions and phosphate ions is 
__________. 
A) Al

3
(PO

4
)
3
 

B) AlPO
4
 

C) Al(PO
4

)
3

 

D) Al
2

(PO
4

)
3
 

E) AlP 
 
 
 
 
 



 

29) Barium reacts with a polyatomic ion to form a compound with the general formula 
Ba3(X)2. What would be the most likely formula for the compound formed between sodium 

and the polyatomic ion X? 
A) NaX 
B) Na2X 

C) Na2X2 
D) Na3X  

E) Na3X2 
 
30) Which one of the following is TRUE concerning the simplest unit of MgCl

2
 ? 

A)    1 Mg atom and 1 Cl
2

 molecule 

B)    1 MgCl
2

 molecule 

C)    1 Mg atom and 2 chlorine atoms 
D)    1 positive ion and 2 negative ions 
E)    1 positive and 1 negative ion 
 
Mole Concept 
 
31) The molar mass of (NH

4
)
3

PO
4

 is  

A) 116.03 g/mol    
B) 121.07 g/mol       
C) 149.09 g/mol       
D) 155.42 g/mol       
E) 242.01 g/mol       
 
32) One mole of __________ contains the largest number of atoms. 
A) S

8
 

B) C
10

H
8
 

C) Al
2

(SO
4

)
3
 

D) Na
3

PO
4
 

E) Cl
2

 

 
33) A 30.5 gram sample of glucose (C6H12O6) contains __________ mol of glucose. 

A) 0.424 
B) 0.169 
C) 5.90 
D) 2.36 
E) 0.136 
 
 
 
 
 
 



 

34) How many moles of oxygen are in 1.08 moles of Ca(NO
3

)
2
? 

A) 7.55 moles 
B) 1.43 moles 
C) 6.48 moles 
D) 33.8 moles 
E) 1.16 × 1023 moles 
 
 
35) How many grams of calcium nitrate, Ca(NO

3
)
2

, contains 24 grams of oxygen atoms? 

A) 164 grams 
B) 96 grams 
C) 62 grams 
D) 50. grams 
E) 41 grams 
 
36) How many molecules of CH

4
 are in 48.2 g of this compound? 

A) 5.00 × 1024   
B) 3.00 
C) 2.90 × 1025 
D) 1.81 × 1024 
E) 4.00 
 
37) What number of moles of O

2
 is needed to produce 14.2 grams of P

4
O

10
 from P in a 

synthesis reaction where 1 mol of P
4
O

10 is produced for every 5 mol O
2

 that reacts? 

(Molecular weight P
4

O
10

 = 284) 

A) 0.0500 mole 
B) 0.0625 mole 
C) 0.125 mole 
D) 0.250 mole 
E) 0.500 mole 
 
38) Which of the following gas samples contains the greatest mass of gas molecules? 
A) 1.0 liter of He at STP  
B) 1.0 liter of Xe at STP 
C) 1.0 liter of H

2 
at STP  

D) All three are the same. 
 
 
 
 
 
 
 
 
 
 
 



 

 
 
 
Know the following groups:  Metals, Nonmetals, Metalloids, Alkali metals, Alkaline Earth 
metals, transition metals, Nobel gases, Halogens, inner transitions, lanthanoids, Actinoids.  
 
 

 
  
Know the name and symbols of 1 – 40, 46 – 58, 78 - 94 



 

 
 
 
 
 
 
 


